Name: Period: Date: HR:
Virtual Assignment #1

Practice Graphing. Use the table to the right to graph in a LINE GRAPH. Then use the information to answer the
questions.

Title:

20 Water Depth (m) |Temperature (°C)
50 18
75 15
100 12
150 5
200 4
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Create a title for the graph. Write the

title at the top of the graph.

e Mark an appropriate scale on the axis
labeled "Water Depth (m).

e Plot the data on the grid
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Water Depth (m)

Questions:

1. Using complete sentences, state the general relationship between temperature and water depth. Example: As
the water depth increases/decreases, the temperature increases/decreases.

2. The approximate water temperature at a depth of 125 meters would be closest to (circle it)
a. 15°C c. 13°C
b. 8°C d. 3°C

2. |If the fish species Bluegill prefers a water temp of 17 °C, at what depth would this type of fish be typically found?

TURN ME OVER!!!



1. Emily found a helium-filled balloon floating a few feet above the floor with its string dragging on the floor. She
then did the following:

I. She lifted the string of the balloon
gently off the floor and noticed that the
balloon started to nse.

II. She said, “I think the balloon cannot
lift the whole length of string. If I cut
the string shorter, the balloon should
rise.”

III. She cut the string very short,

IV. Secing that the balloon then rose, she
said, I think I was right”

At which point did Emily formulate a hypothesis?
A |
B. Il
C.
D. IV
2. Emily now decides to setup an experiment to officially test her hypothesis. She begins by having an
experimental group of 10 balloons with just enough helium so that their strings drag the floor. Her control
group uses 10 balloons fully filled with helium resting against the ceiling with strings hanging down. She then
cuts the strings of the balloons in the experimental group. Her science teacher looks at her plan and suggests
she has made a mistake. What is her mistake?
A. She is using too many balloons in each group.
B. The balloons in the experimental group are only partially filled with helium.
C. The balloons in the control group have full strings.
D. The balloons in the control group are fully filled with helium.



